THSHEE LR ERKHREGHEAST 1/7

. sl B ERE [ EARE EEE HIEL EEBHIZ  BERT R | UE stEeke sEgys weess BEEKE BE 0 GRS =

HEZE Y] EF| K- @mK B BBRAR 0.80 ~ 1.00 0.200 0.90] 4.99] 6.49] — TR ER®
28 =T EE #K - &K B ®EERER 5.00 ~ 7.63 2.63] 6.32/ 7.07 8.57 8.79 1R TRM
JEEIN A=Y EE #K - &K B ®EERER 7.80 ~ 12.71 4.911 10.26) 8.22 9.72 9.96 R TRM
4EB)N =T EE #K - &K B ®EEER 12.80 ~ 13.60 0.80] 13.20/ 9.50 11.00 11.15 R TRM
5 E&all =T EE #K - &K B ®EERER 16.60 ~ 16.80 0.20/ 16.70/ 11.19 12.69 13.10 TR TRM
6 EaI =T EE #K - &K B fEWER 16.80 ~ 17.28 0.48 17.04 11.40 12.90 13.41 1R TRM
TE&2N A=Y EE #K - &K B fEWER 17.40 ~ 21.80 4.40| 19.60 12.84 14.34 15.02 R TRM
8 EaII =T EE #K - &K B BTEER 22.80 ~ 23.89 1.09) 23.35| 15.49 16.99| 17.41 R TRM
9 ERIN =T EE #K - &K B BTEER 24.00 ~ 27.40 3.40| 25.70 17.33] 18.83 19.29 TR TRM
=10 A=Y EE #K - &K B BTEER 29.20 ~ 29. 40 0.20] 29.30/ 20.65 22.15 — R TRM
walll #EaE EiF| HK-RK B |WmHBER 29.60 ~ 29.80 0.20) 29.70 21.15| 22.65 — R AR
walll =N EiF| HK &K A |IRBER 30.00 ~ 30.20 0.20] 30.10 21.56] 23.06 — IR AR
walll =N EiE| HK-RK B WEHER 30.20 ~ 30.40 0.20] 30.30 21.83] 23.33 — - E Ak
walll =N EiF| HK-RK A WHEHFER 30.40 ~ 30.60 0.20] 30.50 22.11| 23.61 — A E A
=10 =T EE #K - &K A |RHER 37.40 ~ 37.60 0.20] 37.50 29.90 31.40 28.22 R TRM
=100 =T EE #K - &K B LtEEER 51.40 ~ 52.00 0.60/ 51.70 67.35 68.85 69.21 TR TRM
=10 A=Y EE #K - &K B LtEEER 52.40 ~ 52.51 0.11] 52.46 69.68 71.18 71.25 R TRM
=10 =T EE #K - &K B LtEEER 53.00 ~ 53. 60 0.60] 53.30 71.99 73.49 73.77 1R TRM
=100 =T EE #K - &K B LtEEER 53.80 ~ 53. 86 0.06| 53.83 73.79 75.29 75.59 TR TRM
=10 =T EE #K - &K B LtEEER 54.00 ~ 54.10 0.10] 54.05 74.48 75.98 76.28 1R TRM
=10 A=Y EE #K - &K B LtEEER 54.40 ~ 55.20 0.80| 54.80 76.71 78.21 78.63 R TRM
=10 =T EE #K - &K B LtEEER 55.40 ~ 56. 40 1.00) 55.90 80.57| 82.07 82.36 R TRM
walll =N AEFE| #K-RK B &m0 0.60 ~ 0.80 0.20 0.70, 4.59 6.09] — IR AR
=10 =Y AE | HK - @K B ®EE&AR 2.40 ~ 2.60 0.20/ 2.50 6.35 7.8 — R TRM
=10 =T AE | HK - @K B ®EE&HR 5.80 ~ 6.00 0.20] 5.90 7.00 8.50 8.74 1R TRM
=100 =T AE | K- &K B ®EE&R 6.20 ~ 6.80 0.60, 6.50 7.1 8. 61 8.88 TR TRM
=10 =T AE | K- &K B ®EE&AR 7.20 ~ 7.60 0.40| 7.40 7.24 8.74 9.13 1R TRM
=10 A=Y AE | K- &K B ®EE&AR 7.80 ~ 8.20 0.40/ 8.00 7.39 8.89 9.36 R TRM
=10 =T AE | K- &K B ®EE&HR 8.60 ~ 8.80 0.20 8.70/ 7.60 9.10 9.66 1R TRM
=100 =T AE | K- &K B ®EE&R 9.00 ~ 9.40 0.40] 9.20 7.80 9.30 9.92 TR TRM
=10 =T AE | K- &K B EWER 12.60 ~ 12. 71 0.11] 12.66/ 9.28 10.78 11.09 1R TRM
=10 A=Y AE | K- &K B EWER 12.80 ~ 17.00 4.20/ 14.90 10.23 11.73] 12.08 R TRM
walll #EaE AiEFE| #K-RK B EWE=R 17.20 ~ 17.28 0.08 17.24 11.50| 13.00 — R AR
walll =N AEFE| #K-RK B fEWE=R 18.80 ~ 19.00 0.20) 18.90 12.34| 13.84 — IR AR
=10 A=Y AE | K- &K B B&E&ER 21.00 ~ 23. 89 2.89| 22.45 14.87 16.37 16.59 R TRM
walll #EaE AiEFE| #K-RK B B&E&ER 26.60 ~ 26.80 0.20) 26.70 17.98 19.48 — R AR
walll =N AEFE| #K-RK B B&E&ER 27.80 ~ 28.00 0.20] 27.90 19.31 20.81 — IR AR
=10 =T AE | K- &K B B&E&ER 28.20 ~ 28.40 0.20] 28.30/ 19.66 21.16] — 1R TRM
=10 A=Y AE | HK - @K B B&E&ER 28.60 ~ 29. 40 0.80] 29.00/ 20.41 21.91 - R TRM
walll #EaE AiEFE| #K-RK B BEHERE 29.80 ~ 30.00 0.20] 29.90 21.36 22.86 — R AR
=100 =T AE | K- &K A |IEHEE 38.60 ~ 39.70 1.10 39.15 32.03| 33.53 31.78 1R TRM
walll =N AiE| #K-RK A WHFHER 40.60 ~ 41.37 0.77) 40.99 36.09 37.59 34.43 A E A
=10 =T AE | K- &K B |WmHARE 41.40 ~ 41.60 0.20] 41.50 37.62 39.12 36.54 R TRM
walll =N AEFE| #K-RK B [REE 50.80 ~ 51.00 0.20] 50.90 64.89| 66.39 66.65 - E A
=10 =T AE | K- &K B LtEEARE 51.40 ~ 51.60 0.20| 51.50 66.70 68.20 — 1R TRM
=10 A=Y AE | K- @K B LtEEARE 52.40 ~ 52.51 0.11] 52.46 69.68 71.18 — R TRM
walll #EaE AiEFE| #K-RK B LtEEAE 53.80 ~ 53.86 0.06) 53.83 73.79| 75.29 — R AR
walll =N AEFE| #K-RK B LtEEARE 54.00 ~ 54.10 0.10] 54.05 74.48 75.98 — IR AR
=101 =T AiE | K- RK B LtEEAE 55.80 ~ 56. 40 0.60/ 56.10 81.06 82.56 83.06 B 45 TRM

BEEA 32 3 @&Fr 0.60 km

aF 2 fHRT 1.87 km

- &0z km

EEEB yy = 19 &Fr 21.98 km

aF 25 ®&FT 13.15 km

— (=030 km




SHSFEE IR FEKBHRERE 2/17
No. sl A% kAR FER EAXM FEE FiE4 FEREAZ Eip R | B smeokt sEgEyes nmens BEEKE BER | TEH4A S
HIEIEN EZSN] Er| RAmK B BRER 2.20~ 2.40] | 0.20] 2.30] 6.24] 7.74] 8.20 TR EEm
5121 =0 EE | BERK B HEEER 440 ~ 4.60 0.20 4.50 6.80 8.30 8.53 R EkR@
52| &I HE EE | BERK B HEEER 8.40 ~ 8.60 0.20 8.50 7.52 9.02] 9.24 R EkRH
53 &2 EE EE | BERK B EEER 13.00 ~ 13.20 0.20 13.10  9.42 10.92 10.96 R dRH
542 EE EE | RBERK B HEZER 24.60 ~ 24.80 0.20 24.70 16.54 18.04  18.47 R dRH
b5 &= &Il =T R EAERK B HRER 43.20 ~ 44.00 0.80 43.60| 42.72 44.22| 44.48 IR AR
56| % 2| HE aE | EBEREK B EEAHRE 4.80 ~ 5.00 0.20 4.90 6.87 8.37 8.68 R ERH
578 EE aF | BIERK B EEAHRE 8.00 ~ 8.40 0.40 8.20 7.45 8.95 9.43 R dRH
58| & & JI| HE aF | BIERK B HEER 21.00 ~ 21.80 0.80 21.40 14.18 15.68 15.86 R dRH
50|21 B2 a5 BIERK B HEZER 23.80 ~ 23.89 0.09 23.85 15.97 17.47 17.93 R ERH
60| & 21| EE aF | BIERK B |EARE 35.80 ~ 36. 80 1.00 36.30 28.37 29.87 30.11 R dRH
IEE HE aF | BIERK B [EHARE 37.00 ~ 37.80 0.80 37.40 29.90 31.40 31.83 R dRH
62/ =21 =0 a5 BIERK B LEERAR 59.00 ~ 59. 80 0.80 59.40 94.96 96.46 96.79 R EkRH
63 E 21l EE aF | BIERK B HOHAR 61.20 ~ 62. 20 1.00 61.70 104.49 105.99| 106. 40 R ERH
FEEA EF 0 ®&Rr 0.00 km
aE 0 @ 0.00 km
- [E03i0 km
EEEB EF 6 AT 1.80 km
aE 8 @A 5.09 km
— [El3il km
(PIEASN EZEN BiE | R i m K B ERER 46. 20 ~ 46. 80 0.60] 46.50 51.15 52.65 53.16 TR IEEm BT
65 &2l HE A5 HEEHEK B HOHAE 61.00 ~ 62. 20 1.200 61.60 104.49 105.99| 106. 40 B A= E A=K 8 B EE A SR
FEEA EF 0 ®&Rr 0.00 km
aE 0 @ 0.00 km
- [E03i0 km
EEEB EF 0 f&RT 0.00 km
aE 2 & 1.80 km
— [E03il km




R EEADREGEAE

SIS FE 3/7
No. sl A% EEE FEdAl EAXM FEE HIEL EEEHIZ  BERT R | (UE stEeke sEmys weevs BEEKE BE 0 HERA E=
66/ = =11 Y] E= | JKTE - iR A RERER 0.60~ 0.80] | 0.20] 0.70] 4.59] 6.09] — E2E 2K
67 EEIJI &) ER KE- %k A BRER 3.80 ~ 4.00 0.200 3.90, 6.70 8.20 8.96 R |[dERW
68 B2 & ER KE- %k A BRER 7.60 ~ 7.63 0.03 7.62 7.27 8.77| 8.98 R |[dERW
69 B2 &) ERE | KE - %R A IHBERE 29.80 ~ 30.00 0.20/ 29.90 21.36 22.86] — R |[dERW
70 E&2 I & ERE | KE - %R A IHRBER 32.20 ~ 32.60 0.40| 32.40 24.28 25.78] ~— IR |[dERW
ESI =N EF KE- % B WEHER 35.60 ~ 35.80 0.20] 35.70, 27.73| 29.23 — IR AR
28] =N EiF| KE - &R B |[RER 46.60 ~ 46.80 0.20) 46.70| 51.85 53.35 53.58 IR AR
BEEII #EaE x| KE - iR B [REER 47.60 ~ 47.80 0.20) 47.70| 54.85| 56.35 56.52 R AR
14 EBI =N x| KE - kiR A REER 48.60 ~ 49.20 0.60) 48.90/ 58.31 59.81 60.34 IR AR
IHEEN =N EiF | KE - kiR B |[RER 49.20 ~ 49.40 0.20] 49.30/ 59.68 61.18 61.65 IR AR
76 &I &) ERE | KE - %R B LtEBRER 59. 40 ~ 59. 60 0.20] 59.50 94.96 96.46 96.84 R |[dERW
SN & ERE | KE - %R B | EEEIHE 60. 60 ~ 60. 80 0.20 60.70 99.96 101.46 101.85 IR [dERW
18 E &I & ERE | KE - %R B LEBRER 61.00 ~ 61.20 0.20] 61.10 101.27 102.77/103.10 EA- A
19 E &2 & ER KE- %k B BOHER 61.60 ~ 61.80 0.20 61.70 104.49 105.99 106.33 EA- A
80 I &) aF| KE - %R B ®E# 0.20 ~ 0.40 0.20/ 0.30 3.59 5.09 — R |[dERW
81 &R & BE | OKE - kiR A EE@A0O 0.60 ~ 0.80 0.20/ 0.70 4.59 6.09] — IR |[dERW
82 BRI & BE | KE - kiR A BLEE 13.00 ~ 13.20 0.20 13.10] 9.42 10.92 11.47 R |[dERW
83 BRI &) BF| KE - %R A | BEERE 29.60 ~ 29. 80 0.20/ 29.70 21.15 22.65 ~— R [dERW
84 BRI & BF| KE - %R A | BEERE 30.40 ~ 30. 60 0.20] 30.50 22.11 23.61] ~— IR |[dERW
85 &= &I =N fEFE| KE - %R B [REER 47.00 ~ 47.20 0.20] 47.10/ 53.09| 54.59 55.15 IR AR
86 = &I =N fE| KE - %R A [ REE 48.20 ~ 48.40 0.20) 48.30| 56.60 58.10 58.68 IR AR
87 &I &) aF| KE - %R B LEBRER 60. 20 ~ 60. 60 0.40| 60.40 98.72 100.22| — R |[dERW
88 BRI =] AF | KE - %R B HOHER 61.20 ~ 61.40 0.20 61.30 102.48 103.98 104.49 IR [dERH
BEEA 32 6 &Fr 1.63 km
a5 5 &R 1.00 km
- [E03i0 km
EEEB .- 8 HEFT 1.60 km
a5 4 R 1.00 km
— &30 km
SETEN EZEN = R3] IS 7.63 1 7.63 71.28 8 .78 7.55 TR EREm XBEREN SN e
A= =N - I B | KiR{E 12.71 1 12.717 9.32] 10.82| 10.98 IR AR XEREHE=HTS
9 EEN AN - I B |REHE 17.28 1 17.28] 11.54] 13.04| 13.13 EAZEAZN XEREHES-H T
922 ®&) #EaE - TIE% B HEZERIEE 42.02 1 42.02| 38.91 40.41 39.94 R AR XEREHE=HTS
B EEII =N - TIE% B HEE 53.86 1 53.86| 74.00 75.50 75.47 IR AR XEREHE=HTS
9 ER]I w=E - TEY B BARkiE 55. 30 1 55.30/ 78.39 79.89 80.31 R dRTE XEREE=HTS
BEEA 32 0 &Fr
a5 0 f&Fr
— 1 &
BEEB .- 0 f&Fr
a5 0 f&Fr
— 5 &




THSHEE LR ERKHREGHEAST 4/7

) sl ANIE KRR FEdAl EAXM BEE HIEL EEBHIZ  BERT R | UE stEeke sEmys weevs BEEKE BE 0 HERA E=
=N Y] E&| BB | BiE mmkER 140~ 1.54] | 0.14] 1.47] 580 7.30 8.14 E2E 2K
#a &) EE 18113 EXEEBER 1.60 ~ 2.20 0.60, 1.90 6.02 7.52/ 8.15 8 [dEEH
=10 A=Y EF B )11 B EXIEERER 3.00 ~ 3.40 0.40 3.20, 6.59 8.09] 8.86H4. 9K IR TRM
A=) &) . 18113 EXEEBER 3.60 ~ 4.00 0.40, 3.80 6.70 8.20 8.96 IR [dRW
A=Y & EE 18118 EXEEBER 9.80 ~ 10.20 0.40/ 10.00 8.12 9.62| 9.84 IR [dRW
#a &) EE 18113 EXEEBER 11.00 ~ 11.40 0.40/ 11.20 8.62 10.12] 10.40 8 [dEH
A=Y & EE 18118 EXEEBER 13.20 ~ 13.40 0.20 13.30, 9.50 11.00 11.15 R [dEEH
A=) &) . 18113 EXERLER 17.60 ~ 18.40 0.80 18.00 11.91 13.41 13.87 IR [dRW
A=Y & EE 18118 EXERLER 20.20 ~ 21.80 1.60) 21.00 13.92 15.42| 15.59 IR [dRW
A=Y & EE 18118 EIERTER 22.80 ~ 23.20 0.40] 23.00 15.34 16.84] 17.34 8 [dEEH
A=) &) . 18113 EIERTER 24.40 ~ 24. 60 0.20 24.50 16.38 17.88 18.19 IR [dRW
A=Y & EE 18118 EIERTER 25.00 ~ 25.20 0.20/ 25.10 16.85 18.35 18.63 IR [dRW
#a & EE 18113 EIERTER 25.80 ~ 26.80 1.00] 26.30 17.79 19.29| 19.84 8 [dEEH
A=Y & EE 18118 EIERTER 27.00 ~ 27.20 0.20/ 27.10 18.45 19.95 20.16 R [dEEH
A=) &) . 18113 EIEmHESR 37.40 ~ 37.60 0.20 37.50 29.90 31.40 28.22 IR [dRW
A=Y & EE 18118 EIEmBEER 38.00 ~ 38.20 0.20 38.10/ 30.56 32.06 32.06 IR [dRW
walll =N b 18118k EIE mBER 41.20 ~ 41.37 0.17) 41.29| 37.11 38.61 39.04 IR AR
A=) &) . 18118 EIEmHESR 41.40 ~ 41.80 0.40 41.60 38.03 39.53 39.96 IR [dRW
A=Y & EE 18118 EFIELRER 43.80 ~ 44.40 0.60 44.10 43.84 45.34 46.05 IR [dRW
#a & EE 18113 EIELRER 4580 ~ 47.29 1.49) 46.55 51.15 52.65/ 53.02 8 [dEEH
A=Y & EE 18118 EIELRER 47.80 ~ 48.20 0.40 48.00 56.01 57.51 58.05 8 [dEEH
A=) &) . 18113 EFIELRER 48.40 ~ 48.55 0.15 48.48 57.10 58.60 59.06 IR [dRW
A=Y & EE 18118 EFIELRER 48.60 ~ 48.80 0.20 48.70/ 57.70 59.20 59.76 IR [dRW
A=Y #a EE 18118 EIELRER 50.00 ~ 50. 08 0.08 50.04 62.36 63.86 64.55 B EI Ak
A=) & . 18113 EFIELRER 50.20 ~ 50. 40 0.20 50.30 62.89 64.39 65.36 R [dEEH
A=Y & EE 18118 EFIELRER 50. 60 ~ 50. 69 0.09 50.65 64.27 65.77 66.76 IR [dRW
#a &) EE 18113 EIE LEBRER 52.20 ~ 52.40 0.20 52.30 69.08 70.58 70.87 8 [dEEH
A=Y & EE 18118 EIE LEBER 53.00 ~ 53.40 0.40 53.200 71.99 73.49 73.77 8 [dEEH
A=) &) . 18113 EIE LERER 53.60 ~ 53.86 0.26] 53.73 73.28 74.78| 74.84 IR [dRW
A=Y & EE 18118 EIE LERBER 54.00 ~ 54.10 0.10 54.05 74.48 75.98| 76.28 IR [dRW
#a & EE 18113 EIE LEBER 54.40 ~ 55. 20 0.80 54.80 76.71 78.21 78.63 8 [dEEH
A=Y & EE 18118 EIE LEBER 55. 60 ~ 56. 20 0.60 55.90 80.57 82.07 82.36 8 [dEH
A=) &) . 18113 EIE LERER 56. 40 ~ 56. 80 0.40 56.60 83.87 85.37 85.67 IR [dRW
A=Y & EE 18118 EIE LERBER 57.00 ~ 58.00 1.00] 57.50 87.03 88.53| 88.58 IR [dRW
A=Y & EE 18118 EIE LEBER 58.40 ~ 58.42 0.02] 58.41 90.40 91.90| 92.81 8 [dEH
A=) &) . 18113 EIE LERER 58.60 ~ 59. 80 1.20) 59.20 94.06 95.56| 96.16 IR [dRW
A=Y & EE 18118 EIE LEBER 60. 20 ~ 60. 60 0.40 60.40 98.72 100.22  100.55 IR [dRW
#a &) EE 18113 EIE LERIBE 60. 60 ~ 60. 80 0.20 60.70 99.96 101.46 101.85 8 [dEH
A=Y & EE 18118 EIE LEBER 60.80 ~ 61.20 0.40| 61.00 101.27 102.77/103.10 R [dEEH
A=) &) . 18113 EIEROHER 61.20 ~ 61.40 0.20] 61.30 102.48 103.98| 104.10 IR [dRW
A=Y & EE 18118 EIEROHER 61.60 ~ 63.73 2.13] 62.67 109.41 110.91| 110. 99 IR [dRW
A=Y & BE 18118 EXEEBAR 3.60 ~ 3.80 0.200 3.70, 6.65 8.15 8.86 R [dEEH
A=) &) BE 18113 EXEEBAR 4.40 ~ 4.60 0.20 4.50 6.80 8.30] 8.61 IR [dRW
A=Y & BE 18118 EXEEBAR 8.20 ~ 8.80 0.60 8.50 7.52 9.02 9.57 IR [dRW
#a & BE 18113 EXERLAR 13.00 ~ 13.20 0.20/ 13.10] 9.42 10.92 11.47 8 [dEEH
A=Y & BE 18118 EXERLAR 14.20 ~ 14.60 0.40 14.40 10.04 11.54 11.87 R [dEEH
A=) &) BE 18113 EIERTER 21.00 ~ 21.20 0.20 21.10 13.92 15.42 15.73 IR [dRW
A=Y & BE 18118 EIE BEB 33.00 ~ 33.20 0.20 33.10 24.92 26.42 21.07 IR [dRW
A=Y #a BE 18118 EIE EEER 34.00 ~ 34.80 0.80 34.40 26.39 27.89 28.47 R [dEEH
walll #EE AF 18118k EIE mHAR 35.80 ~ 36.00 0.20) 35.90| 27.94| 29.44 29.73 R AR
A=Y & BE 18118 EIE mHAR 36.40 ~ 36.80 0.40] 36.60 28.82 30.32| 30.61 IR [dRW
walll =N aF 18118k EIE mBAR 37.00 ~ 37.60 0.60) 37.30/ 29.69| 31.19 31.85 IR AR
A=Y & BE 18118 ERES A 1PN 37.80 ~ 38.00 0.20] 37.90 30.31 31.81] 32.58 R [dEEH
A=) &) BE 18113 EIE mHAR 38.00 ~ 38.20 0.20 38.10 30.56 32.06 32.06 IR [dRW
2 &) BE 18118 EIELRER 47.80 ~ 48.00 0.20 47.90 55.42 56.92 57.37 IR [dRW




THSHEE LR ERKHREGHEAST 5/7

No. sl A% EEE FEdA EARE EEE E3 EEBHIZ  BERT R | UE stEeke sEgys meess BEEKE BE 0 GRS =
IEIEN Y] A& HIEH BiE LRAR 8. 60 ~ 4380 0.20 48.70] 57.70] 59.20 59.43 TR ER®
151 & &I =T aF B )11 B EIE LERAR 56. 00 ~ 56. 20 0.20| 56.10 81.06/ 82.56 83.06 1R TRM
152 & &I A=Y aF B )11 B EIE LERAR 56.40 ~ 57.20 0.80| 56.80 84.59 86.09 86.49 R TRM
153 & &I =T AF B )11 B EIE LERAR 57.40 ~ 58.20 0.80| 57.80 88.40 89.90 90.12 R TRM
154 &Il =T AF B )11 B EIE LERAR 58.40 ~ 58.42 0.02| 58.41 90.40 91.90 93.27 TR TRM
155/ &Il =T aF B )11 B EIE LERAR 58.60 ~ 59. 80 1.20 59.20 94.06| 95.56 96.09 1R TRM
156 & &)1l =T A 1811 B EIE BHOHAR 61.00 ~ 62.80 1.80 61.90 105.54| 107.04 107.39 IR dTRT
EFERME E=F 41 EAF 19.43 km
ai=E 21 &FfFr 9.62 km
— (=030 km
IEEN =Y A IET BEER 70.80 ~ 11. 20 0.40 11.00] 8.51] 10.01 10.29 TR ERE® BRER (11.00 280
158 & &Il =N | ERARXME BLERE 21.00 ~ 21.40 0.40) 21.20| 14.04 15.54] 15.81 - E A BIRER (21.20) £#&8%
159 ‘E &Il =T F| EARXM BEER 25.00 ~ 25.40 0.40) 25.20| 16.97 18.47 18.M IR AR BIRMER (25.20) &%
160 & 21| A=Y Fl EARXM WHER 37.20 ~ 37.60 0.40| 37.40/ 29.90 31.40 28.22 A E A RRER (37.40) 28
161 =) #EaE | ERARXME ItEBRER 51.20 ~ 51.60 0.40| 51.40/ 66.70 68.20 68.53 - E 4 BIRER (51.40) 8%
162 &2l =N | ERARXME ItEBER 53.60 ~ 53.80 0.20) 53.70| 73.28 74.78 74.84 - E A BIRER (53.80) #&E
163 E &I A=Y Fl EARXM E=EE 8.80~ 9.20 0.40/ 9.00 7.74] 9.24 9.86 IR AR BIRER (9.00) &8
164 E &)1 =T F EARM BLAE 16.60 ~ 17.00 0.40) 16.80/ 11.31 12.81 13.34 - E 4 IRMER (16.80) &%
165 & &Il =N AF| EREM BEARF 21.60 ~ 22.00 0.40) 21.80 14.46] 15.96 16.19 - E A BIRER (21.80) #&8¢
=N =N AF| EREME BEERE 32.60 ~ 33.00 0.40| 32.80 24.66| 26.16 26.56 IR AR BIRER (32.80) #&¢
167 E&E ) =N A ERAXMH pragayd 35.60 ~ 36.00 0.40| 35.80| 27.94| 29.44 29.73 - E A fERMER (35.80) BT
168 & &Il #EaE AF| EREM pES )= 39.20 ~ 39.70 0.50) 39.45 32.81 34.31 31.73 - E 4 BIRMER (39.40) &%
169 E &Il =N AF| EREME A 41.00 ~ 41.37 0.37) 41.19| 36.48 37.98 35.16 - E A BIRER (41.20) &%
170 &)1 =N A7 ERAXME LtREER 50. 60 ~ 50. 69 0.09| 50.65 64.27| 65.77 66.26 A E A
1 EEN #EE AF ERARXM LtREER 50.80 ~ 51.00 0.20] 50.90 64.89 66.39 66.65 e A fRRER (50.80) &
172 &2 #EE AF| EREXM LtEBER 57.40 ~ 57.80 0.40 57.60 87.88 89.33 89.67 IR ERH BIRER (57.60) #8848
BEARKM =R 6 &EFr 2. 20 km
a=E 10 &PFr 3.56 km
— (=030 km




THSHEE LR ERKHREGHEAST 6/7

) sl ANIE KRR FER EAXM FEE FiE4 FEREAZ Eip R | B smeokt sEgEyes nmens BEEKE BER | TEH4A S
HEIE EFI] ER | @K - @K B | EMIIEZR | 1.20~ 1.40] | 0.20 1.30 67.86 69.36 69.81 TR EEm
ELEN =3 5| BK-EK B EMINARE 0.80 ~ 1.00 0.20 0.90 66.18 67.68 — E L E Ak
IEEN gl a5 Bk - @K B EmIIAE 1.20~ 1.40 0.20 1.30 67.86 69.36 69.80 e AN
FEEA 33 0 &Ffr 0.00 km
aF 0 &Ffr 0.00 km
- [E03i0 km
EEEB yy = 1 &Ffr 0.20 km
aF 2 &FT 0.40 km
— [El3il km
EZEN EFII] EF | JKTE - khE B EMINER 1.60 ~ 1.80 0.20] 1.70 70.00 71.50] 71.85 TR EREm
B2 =S B K - kiR B EMIER 3.20~ 3.40 0.20 3.30 78.34 79.84 80.58 R dRH
=00 =3 B KfE - iE A EMINER 3.40 ~ 3.60 0.20 3.50 79.51 81.01  81.98 R dR®
B2 =3 B K - kiR B EMINER 540 ~ 5.48 0.08 5.44 90.00 91.50 91.90 L E Ak
=00 =3 | KT - IR A EMINER 5.60 ~ 5.80 0.20 5.70 91.05 92.55 92.83 E L E Ak
B2 =S EE | KE - %iE A EMINER 6.00~ 7.40 1.40, 6.70 96.32 97.82 98.42 R dRH
=00 =3 A5 | KE - kiR B EMINARE 3.60 ~ 3.80 0.20 3.70 80.48 81.98] 82.40 R dR®
=00 =3 AE KE - kR B &Xi#5 440~ 4.60 0.20 4.50 84.65 86.15 89.23 E L E Ak
B2 =S A8 | KE - kiR A EMINAR 5.00 ~ 5.40 0.40 5.20 89.02 90.52] 90.80 R dRH
=00 =3 A5 | KE - kiR B EMINAE 5.60 ~ 5.80 0.20 5.70 91.05 92.55 93.14 R dR®
B2 =3 A5 | KE - kiR B EMINAE 6.00 ~ 6.20 0.20 6.10 93.13 94.63] 95.38 L E Ak
EA=1 gl A5 | KiE - kiR A EMINAE 6.60 ~ 7.40 0.80 7.00 98.26 99.76 100.39 e AN
FEEA kE=F 3 &FRT 1.80 km
aF 2 &FT 1.20 km
- [E03i0 km
EEEB yy = 3 &AT 0.48 km
aF 4 &FF 0.80 km
— [El3il km
E3E I - TS RESEE \ 108 | 1] [ 1.08] 67.24 68.74 68.82 TR EREm XEREN A
FEEA 33 0 &FRr
aF 0 &R
— 0 &R
EEEB yy = 0 &FRr
aF 0 &R
— T
EZEY EFII] ER TBTTER B33 = 0.20 ~ 0.60 0.40] 0.40 — — — TR IEEm
B2 =S = =010k EIE EMIER 0.80 ~ 1.08 0.28 0.94 66.18 67.68 68.13 R dRH
=00 =3 = EIE EIE EMIER 1.20~ 2.45 1.25| 1.83 70.93 72.43| 72.84 R dR®
B2 =3 B B BEIE EMIER 2.60 ~ 2.80 0.20 2.70 75.15 76.65 77.14 e Ak
=00 =3 = [=D10E; BEIE EMIER 3.00~ 3.60 0.60 3.30 78.34 79.84 80.58 E L E Ak
B2 =S = =010k EIE EMIER 3.80 ~ 4.40 0.60 4.10 82.57 84.07 84.53 R dRH
=00 =3 B B EIE EMIER 4.60 ~ 4.80 0.20 4.70 85.77 87.27 87.43 R dR®
=00 =3 EE| (BN BEIE EMIER 520 ~ 5.40 0.20 5.30 89.02 90.52 90.66 E Ak
B2 =S EE =010k EIE EMIER 7.00 ~ 7.20 0.20 7.10 98.26 99.76| 100.18 R dRH
=00 =3 A% BN EIE EMIERE 2.20 ~ 2.45 0.25 2.33 73.19 74.69 75.11 R dR®
B2 =3 a5 [=D10E:; BEIE EMIEE 2.60 ~ 4.40 1.80, 3.50 79.51 81.01 81.51 L E Ak
=00 =3 a5 [=D10E; EIE EXE 440~ 4.60 0.20 4.50 84.65 86.15 89.23 E L E Ak
B2 =S A% BN EXE KEE 480~ 5.00 0.20 4.90 86.78 88.28 88.75 R dRH
=00 =3 a5 [=D10E; EIE EMIERE 5.20 ~ 5.40 0.20 5.30 89.02 90.52] 90.80 R dR®
B2 gl a5 (=K EIE EMIEE 580~ 7.40 1.60 6.60 96.32 97.82 98.22 E e AN
EZXERME EEF 9 &HFRT 3.93 km
aF 6 BFT 4.25 km
— [El3il km
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No. sl A% kAR FER EAXM FEE FiE4 FEREAZ Eip R | B smeokt sEgEyes nmens BEEKE BER | TEH4A S
RVAEAEN EFI] A AET BN £ = " 1.00~ 1.08 ] 0.08 1.04 66.83 68.33 70.63 TR EEm
33|ER) =3 kF EAKM EMNEE 1.20~ 1.40 0.20 1.30 67.86 69.36 69.81 R EkR@ BREF (.20 &0
34ER) =3 kEF EAKM E=NEE 400~ 4.40 0.40 4.20 83.68 85.18 85.67 R EkRH BREF (4.20 &0
35 ER) I 7 EAKM e 0.80~ 1.08 0.28 0.94 66.18 67.68 — E A E AN BRER (1.00) 288
ES= =4 EF 3 &FRT 0.68 km
aF 1 &/ 0.28 km
— &3l km




